I _ B () C(10) = 1532.1, {100) = 2100 () The costof
CUreprer 3 Solutions jodncing 10 yd end 100 yd (&) €(0) = 1500
@, (@) 5027, 113,10 (b) S(2) is the surface area of a sphere
;fmdinsz.andsﬁ)isﬂnm:&wmofaqiueofmﬁnsi
Sec. 3.} iL () D(0.1) = 28.1,D(02) =398 (b) 413mi °
—_— W) BS6mi 62 (@) 50,0 (b) V(0) is the volume of the
gblﬂnnk,andwm)isﬂaemlmofﬂnmiplymk.

1 f)y=2x+3) 2 fx)=7—4 3 fx)=(@x=5) Mmiotes lster.
4, §(x) = {Vx+ 8} 5. Subtract4, then divide by 3 ) :

. 6. Divide by 3, then subtract 4 7. Square, thea add 2 bl | V)
8. Add 2, then take the square root i | 050
R e 10. . | 5 {28azs

A wirige P jo ] 125
15 | 3428
2010

%, @ H04) = 4440, o{0.4) = 1665

X ) Flow is Saster near ceniral axis.
1. 1z r| o)
X
x | f(x) x g(x) 0 4635
-1 8 -3 3 0.1 | 4440
0 2 -2 1 0z | 3885
1 0 o 3 03 | 2960
212 1 04 | 1665
3 8 3 9 05| ©

13.3,—3,2,2a+ 1, —2a+ 1,20+ 25+ 1

1,2
2 — — —_—
14. 0,15,3,0 + 20, 5% - 25,5 + _ v
5 -1 3 L1-a278 \pfined 65. (8) 8.66m, 661 m, 436 m
3 Flta a S -{b) Tt will appear wo pet shoster ,
16 2233 cr L ey : : 66. (2) T(5000) = 0, 7(12,000) = 960, 7(25,000) = 5350
r2T  x=x (&) The amoant of tnx peid on incomes of 5000, 12,000; and
: 23,000
67. (a). $90, $105, $100, $105
17, —4,10, -—2.3‘\/5,33:’-!— Tx+ 1,222~ 3x— 4 ®) Total cost of an order, including shipping
45
1. 0, <3, —5, ——on = — x5 2%~ 4s* ‘ e < 175 fo=x=2
88 . @TX) = {150 + 50(x — 2) Hx>2 .
. 1.6,2,1,2,2x], 2> + 1) () $150, $200,$300 (c) Total cost of staying at the hetel
i?.ﬂ. ~l.-l.mtdeﬁmd.l.l,xffx] 21.4,1,1,2,3 15(40"‘3) Fo<x <40
1.5,5,5,3,7 . 8 —3,-1,0,~1 24 -15,1,2,3,9 @. ) F&) ={0 - 40 = x = 65
135.:5-&4;:2-5,:14-6 26. 6x— 1,6x—2 . 15(1"-65) x> 65
B, 3a+2,Ha +H) +2,3 ’(;).snso.m, A © specd
by, a4 1,a? 4 20k + 2 1,20+ K 1 -
1 1 -1
';31'5’5’0 R Tarhtr @+ Dath+1) :f; / '
33' a_ _ath 1 : /
attlath+1'(@a+th+i)fatl) {
34, 2 2a+h) -2 , . % o >
Sa-Tath—T(a+h—1)a—1)
%, 3 = Sa + 4a% 3 — Sa — 5k + 4a® + Sah + 447, n.r
5+ 8a+4h 36 o+ 3kt 3akt + B, . :
1% + 3ah + k* . 37. (—o0,00) 38. (—oo,00) B {—1.5}
%.00,5] 4L {xix+#3} 4 {x|x#2} 4. {x|x#+ 1}
¥ [xix* —3,x#2} 45 [5.00) 46. [—9,00) — ¢

f. (~o0,00) 48. (00, 3] 49. B00) - °f '
. (o0, 3] U [3,00} 5L [-2.3) U (3,0) .

2. [0.4) U (h00) 53, (—00,0] U [6,00)

o4, (~00, ~2] U [4,00) 55. (4,00) 56. (~00,6)

57, fco) 58. (3D



